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BACHELOR OF SCIENCE (GENERAL) 
(BSCG) 

Term-End Examination 
December, 2022 

BZYCT-131 : ANIMAL DIVERSITY 

Time : 2 Hours     Maximum Marks : 50 

Note : Question No. 1 is compulsory. Attempt any 
four questions from Q. Nos. 2 to 6. 

1. (a) State whether the following statements are 
True or False : 4×1=4 

  (i) Coelomates are animals whose body 
cavity is lined with mesoderm. 

  (ii) The haemoglobin of amphibians has a 
higher affinity for oxygen than in 
mammals. 

  (iii) Class insecta is the largest class in the 
animal kingdom. 

  (iv) The chambers of the canal system of 
sponges are not lined by choanocytes. 
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 (b) Choose the correct option from the 
parentheses : 4×1=4 

  (i) Ascaris megalocephala is found in the 
intestine of (goat/horse). 

  (ii) Flame cells in Platyhelminthes are 
(osmoregulatory/circulatory) in 
function. 

  (iii) The five kingdom classification was 
proposed by (Whittaker/Carl Woese). 

  (iv) The organism is known to form 
abscesses in the human liver, lung, 
brain (Entamoeba histolytica/ 
Plasmodium). 

(c) Match the items given under Column A with 
those given under Column B : 4×1

2
=2 

  Column A  Column B 

 (1) Rhabdomere (i) Cyclops 

 (2) Copepoda (ii) Photosensitive 

       receptor 

 (3) Diffusion (iii) Secretion of JH 

 (4) Corpus allatum (iv) Excretion of 

       metabolite in 

       protozoans 
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2. Differentiate between the following pair of 

terms :   4×21
2
=10 

 (i) Horns and Antlers 

 (ii) Artiodactyla and Perissodactyla 

 (iii) Sarcopterygians and Actinopterygians 

 (iv) Enteropneusta and Pterobranchia 

3. (a) Describe the life cycle of tapeworm (Taenia 

solium). 5 

 (b) List any five salient features of class 
Amphibia. 5 

4. (a) Describe salient features of subphylum 
Crustacea. 5 

 (b) Discuss the process of torsion in class 
Gastropoda. 5 

5. (a) Make a key to identify and differentiate 
poisonous and non-poisonous snakes. 5 

 (b) Give a brief account on the role of air sacs 

in birds. 5 
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6. Write short notes on any two of the  
following :  5×2=10 

 (i) Compound eye of insects 

 (ii) Water vascular system of starfish 

 (iii) Osmoregulation in fish 

 (iv) Flying mammals (bats) 
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foKku Lukrd (lkekU;) 

(ch- ,l&lh- th-) 

l=kkar ijh{kk 

fnlEcj] 2022 
ch- tsM- okbZ- lh- Vh--131 % izkf.k fofo/rk 

le; % 2 ?k.Vs     vf/dre vad % 50 

uk sV % iz'u la[;k 1 vfuok;Z gSA iz'u la[;k 2 ls 6 rd 
fdUgha p kj iz'uksa dks gy dhft,A 

 

1- (a) crkb, fd fuEufyf[kr dFku lR; gSa ;k  

vlR; % 4×1=4 

  (i) lhyksesV ,sls izk.kh gSa ftudh nsgxqgk 

ehlksMeZ@eè; Ropk ls vLrfjr gksrh gSA 

  (ii) ,EiQhfc;Ul (mHk;pjksa) ds gheksXyksfcu dh 

Lrfu;ksa dh rqyuk esa vkWDlhtu ds fy, 

vf/d cU/qrk gksrh gSA 

  (iii) oxZ bUlsDVk izkf.k txr~ dk lcls cM+k oxZ 

gSA 
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  (iv) Liatksa ds uky ra=k dk d{k dhi dksf'kdkvksa 

ls vLrfjr ugha gksrk gSA 

 (b) dks"Bd esa ls lgh fodYi dk p;u dhft, % 
      4×1=4 
  (i) ,sLdsfjl esx syk sfliQsyk (cdjh@?kksM+s) dh 

vk¡r esa ik;k tkrk gSA 

  (ii) IysVhgsfYeUFkhT+k dh ykS&dksf'kdkvksa dk dk;Z 

(ijklj.k fu;eu@ifjlapj.k) gSA 

  (iii) ik¡p txr~ oxhZdj.k (fàVsdj@dkyZ owT+kk) 

}kjk fu£er fd;k x;k FkkA 

  (iv) ;g tho ekuo ;Ñr (fyoj) iQsiQM+ksa vkSj 

efLr"d esa ?kko djus ds fy, tkuk tkrk gS 

(,UVvehck fgLVksfyfVdk@ IykTeksfM;e)A 

 (c) dkWye ‘A’ esa fn, x, enksa dk dkWye ‘B’ esa fn, 
x, enksa ls lgh feyku dhft, % 4×1

2=2 

    dkWye A  dkWye B 

  (1) jSCMksfe;j (i) lkbDyksIl 

  (2) dksiiksMk (ii) izdk'kla'ys"kh xzkgh 

  (3) folj.k (iii) JH dk lzko.k 

  (4) dkWiZl ,ysVe (iv) izksVkstksvk ds thoksa 

        esa mikip;tksa dk 

        mRltZu 
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2- inksa ds fuEufyf[kr tksM+ksa ds chp vUrj crkb, % 

4×21
2
=10 

 (i) lhax vkSj e`x Ük`ax 

 (ii) vkVhZvksMSDVkbyk vkSj isjhlksMSDVkbyk 

 (iii) lkdksZIVsjhftvkbZ vkSj ,DVhuksIVsjhftvkbZ 

 (iv) ,UVsjksU;wLVk vkSj VSjksczSafd;k 

3- (a) VsioeZ (Vhfu;k lk sfy;e) ds thou pØ dk 

o.kZu dhft,A 5 

 (b) oxZ ,EiQhfc;k dh ik ¡p fof'k"V fo'ks"krkvksa dks 

fyf[k,A  5 

4- (a) miiQkbye ØLVsf'k;k dh fof'k"V fo'ks"krkvksa dk 

o.kZu dhft,A 5 

 (b) oxZ xSLVªksiksMk esa foeksVu dh izfØ;k dh foospuk 

dhft,A  5 

5- (a) thfo"kkyq vkSj vthfo"kkyq liks± esa vUrj djus ds 

fy, dqath cukb,A 5 

 (b) if{k;ksa esa ok;q dks'kksa dh Hkwfedk dk laf{kIr 

fooj.k nhft,A 5 
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6- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   5×2=10 

 (i) dhVksa ds la;qDr us=k 

 (ii) LVkjfiQ'k dk ty laoguh ra=k 

 (iii) eNfy;ksa esa ijklj.k fu;eu 

 (iv) mM+us okys Lruh (pexknM+) 
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